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10) Water is flowing a@ a circular pipe. If the diameter of the pipe decreases to 1/2 its former
value, what is the velocity of the water downstream?

a) 1.0m/s b) 2.0m/s c) 4.0m/s d) 8.0m/s e) l6mls
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Q11) The cross-sectional area of the aorta l@and blood flows thrgugh it at 40 cm/s. The —
flow rate (in grams/s) of blood through the aorta is: (Assume density of blood to be iQS,Q)kg/n}{ \0#3
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12. 2 Liters/s bf water enter a pipe of radiu§ 1 cm.\The speed of the water inside the pipe (in m/s) is:

s ——

A)6.37 B)3.71 C)0.28 D) 8.46 E)12.7
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11) Water pressurized to 3.5 x 10° Pa is flowing at 5.0 m/s in a horizontal pipe which contracts to 1/3 /3 its
former area. What are the pressure and velocxty of the water after the contraction?

a 4.5><105Pa,1.5m/s b) 3.0 x 10° Pa, 10 m/s ¢) 3.0x10°Pa, 15m/s
d)) 2.5 10° Pa, 15 m/s e) 5.5x10°Pa, 1.5m/s o e
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11. Air flowing horizontally with a speed v over the flat roof of a building reduces the pressure on
the roof by an amount@ What is the pressure reduction if the speed of the air 1@Assume that

the air was still initially.
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Applications

Tormcelli's theorem
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10-127) Flow in+Hubes: Poiseuill's Ec-]Mo.{-fOW, Blo=d
A non-viscous Fluid can How

n o ho::@wf’_ol @6’ w-‘l—QOLH'
opp\lj.v:ﬁ o force.

When #He Fluid is visccus e
vicasty plays He mle of Friction
and tmpedes the Flow of e Plud
lagers.

For a viseous fFluid 4o Flow in
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steady How of any real (viscous) Fluid.
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